o

r::h

— P67 A LY
S'I' 2

(A) 25% A@

(B 2004 1&

(C) 75% 5 %
(D) 80%

|
ga — =063
1. P-ga -

-

«;\"

3, ‘gl (3 A5 ALARTE
—war TYESA
(A) T30S
(1) =5 o

“ -' nE A ":"’.1'-:'

tl)' I“"' ll ’7-.-

3. (@ o 7 wwwfa’ Senfy wire afeen
(A) w™oY

() =< pwoY

() feim v

() ¥FyEed

4. T A ofedre @ fermme
(A) rfﬂ' cenfas
(B) w¥m 7w
(C) -FE?;*f
(D) =% 3m

r.z-?swf‘vm“mﬁ.?ﬁ»‘a i R e
T (similarity) =g | e AT (similarity)

(A) #traw ¢

(B) 2 (¢ ‘opper)
(C) =7 (Zing)

(D) Gz (Iron)

Mercury).

TJ

foa

RBILC M 2018

o 1 1
P33 - - vy .
4 -_(1‘1' g l._ (J E 2+ 7!"1 ".“"":"'! ?:1“,':

(A) 253
{(B) 20rz
(C) 787

(D) ROz

Tom" =n
A 4= -+ a1

-
Ta=m=7)

(Al 1..—1'_""‘"""7

By ==+

el

(C) T==23 s

WL 9ia

(D) ¥Emay 9

T TR L wwf’ 3wy o) freh

(A) =F=Te

iB) sum TZA
t(_l l,"f.-r T ﬂ
(D) &g

:2"':1'-.:;17:1)

(A) mr"w

(B) 773 F=

(C) ==

(D) ¥&% F=

(similarity) 2157 7=51 ¥= 72 559 (similanty ) $37

(A) 9= (Mercury)
(B) 7™ (Copper)
(C) ¥+ (Zinc)
(D) =@ (Iron)
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o INTERIVY WA Y vy

7o A ol ave 1) ew A0 e
Wit
H@Ta ol wig 890 6
e ¢

Y 2780 B \ oM
_— ] "L
() 4,308 B y :4‘3"'
- t \ \
(N 2,000 Gy IR
.‘.l\. - IL
B, it shoeta e’ (qoe sl %d."
(A 1787 s ,,-‘.,'f"l“‘
(b 1761 190/
(L) I8KS
(I INSS

Y, swiama e (o aennl oy

St ]

(KR!
Ml ot o Ay
WA el
AN Sl
(AR I ST
N Riw

PION I page
S MR Wiy s TRy el Nowi e |
IO v weg e G

1% \
(A) 1468 By g Vs

o INTEREOL ) e silen gy o)
(A s
(I e
TR LR
TRREL

e LS LU TUN S AU LR ML [ A LT R BT
QO d ) ae e e Rlees) @le e s 1o gan
W et ) enli [alese) s 8, 00w 1Ee) sl
ma )

LAY Re Loy
(0 Re 2080
0 Ra o, WS
(M Rs 200

K. e aaern P gart fadie i
tAY LIS
LA
(L1 ISKY
(I INSS

U ER RTINS R R TR PR

ST -

(A\) [ l-ﬂ!
el |
(1) [ .
o )]
() [ —
.y
() -l—_:r.
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10, Uleamig (@ (e W e an \"\"ﬁ'tf ae
TR @y
(A) 3
(B) 4
<y 1
(2

1 ;A .
[ ML ¥ Qe wefl gen e Wl afdyx e

wwafd whar e Y Wi R WA o 2|
FIRSTAN ST TR ACEW 9T 6 160 0T Wa TYEE
(destination) CTE | G 4l sferans (speed) Seaine
(ratio) €1

(A) 3:5 o 18
(B) 4:5 ’
(Cy 3:4

(D) 4:3

12, I AT Srm 481" T SR 5 A’
4G W HEE TS TN 433 698 SR YR T A |
T @w W Fw aer e

(A) 6
(B) 8
(€)1
(D) 4

13. fex =wwm F@s (World Organ Donation Day)
e farm wirs @t 2ue
(A) 2nd October
(B) 7th July
(C) 13th August
(D) 5th September

W, Fesa ffasfice g ad (alphaber) &2
“frgmefETe .w&ﬁwﬁﬁﬁfﬁﬂmmﬁmr
OSbelYca Lahca
(A) bach IA
(B) abbeb
(C) abebb
(D) bhbee

10, M) o o @ata v e gt ady wm
T’

“\

Jan

W

(N

Pa == &

1L SEa Yen, was mam W wean ule e el
g gam afe ko asen da ge ned g e e
p er PR RSTUL I P (UR) [T BN (o 8 B ) B A R R AN TR
13 TErm) MR (apecdd) ST (a0 g
(A) 3: 8
(1Y 4:5
(cy 3:4d
(M 4:3

12, 3 10% M A8 1R St e et
VI T 008 W R Rad e ) s
HEme uI?

(A G
(3 N
() 1
(M 4

13, fawa sty 2m feas (World Organ Donation Day)
Ffeel wAarza?
(A 2nd October
(B) 7th July
(€)1 3th August
(D) Sth September

M. frfafaa fafem &8 av @iphaben 3711
avies 71 fof frer w2 ! F
—be_ca_cab_ _ca

(A) bacbha

(B) abbcb

(C) abebb

(D) bbbee
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(6)
_ _ 3 3 & 375 ¥in
5. 9% 3 nefa (square) = %23 375 1 3ce 15, wzaEn @ A (square) ™ 5 4
vet o Hfa W7

(A) 35 \_,)1 3 " (A) 35 -

(B) 45 - ¢ () 5

(©) 15 P P (©) 15

(D) 25 (D) 23

) © v e g i T2

16, W& vl g @ figeme 16, *sitfas’ M we

(A) (Tes 75 () :':?ﬁﬂ

(C) csmen=i :D; e

(D) w53 s
incip: 1 HiEg2
17. G gETT (principal amount) 2 TECAA 7 7 17. fﬁq@ Wip;:}!m'ﬂm"(zg 1:1 ‘I‘mnd imm:i{"
(simp!cintcn:sneb‘.l'.'-‘iﬁ’ﬁlmmmundinlcm«ljtﬂ;ﬂﬂ (simple interest) st falsa E'. T o }p(trq, . ‘ﬂ;
(respectively) 8,400 Tiet € 8.652 Brel 1 20 7% (rteof | 8,400 F X 8,652 T F5a: (respechively qEH v

> interest) # ¢ (rate of inlerest) fd §'-’3?

2
:;: :: ” i (A) 3%
g (B) 8%
(C) 4% (C) 4%
(D) 6% (D) 6%
18. firsa cem fEBifm® (Vitamin) &1 ¥39% 18. o1 feuw &= fwafaa (Vitamin) 9
(soluble) 74 ¢ sie (soluble) Tfe4a?
(A) C (A) C
(B) P (B) P
(€) K ©) K
(D) B (D) B

), 19, @a%m B ATl 320 b i vt vifeifae 51~ 19. w321 = fasare, ¥, 320 fae vre=n 2ifen =
7 250 Breel (Wit MR 61 F A (ratio) BT | E7%. 250 ) T st = i St (ratio) e
=fe cafe 324 B wea fafFF a4t OR 20% 4TS (gain) | WENE Fo o T 324 el ® Ton M wmE

4 TN (gain) 20% §=27
(A) 223 (A) 2:5
(fg’ 23: (B) 3:7
TN ek (C) 2:3
(D) 1:4

& Exampaners 247, EXAHGEErS 247



20. wragea Tel Af@r42 (Quality Council of India)
e SR I ARG (et o fugrey
(cleanest) (F=D0A4 S A 24§ 4

(A) aranrH!
(B) cnysfa
(C) ¥™ivfa
(D) & fifyy
21. Stosasiarare FeulH 5 Y oo warafze wrd
ngWMQamamum‘
35‘)54.5.5358416?317_;54_&1311 0
(A) 4
(B) 3
(C) s
(D) 6

22. AT I B A
January : November - Sunday : ?
(A) Thursday
(B) Friday
(C) Monday
(D) Wednesday

23, ﬁmmmtmm)wmmr
(A) =i
(B) TS (Mercury)
(C) efearm
(D) =rferrm

24, et (Leucopenia) 7o 2379

(A) Red Blood Corpuscles-x 2 wrefarey
(T e A 1=

(B) Red Bioog Corpuscles-7 A Areifareg
C’fﬁ C9TE o1 .

(D) Whm: Blood Co,
rpuscles-= e
{. . S A Areifaray

(7) RUB/LCM)2018
20. MITR I 90z A (Quality Council of India)
T St wd M (cleanest) 161 1297 4tz
(A) ¥y
(B) v
(©) wEmyR .
(D) f3 feeeit

o

24,

23, el feu=y

21, e HENEE I a5 o e faw A 3 A

49 mfews faeii s o 392
3J5954553584567357554523510

(A) 4
(B) 3
(C) 5
(D) 6

22, w7 famem & g

January : November :: Sunday : ?
(A) Thursday

(B) Friday

(C) Monday

(D) Wednesday

T M1 (metal) 1 9919 9t =21 wea
(A) Sreafagy

(B) R (Mercury)
(C) wifzgy
(D) Fefagyg

TN (Lcucc)pcma) Ffesy =7

(A) Red Bloog Corpuscles 7 Hem =i
W1y

(B) Red Blood Comys 7
Puscles i Hwy Eifas
W=1ag
(C) Whie Blood Cg

ik fpuscles i Ty Evrfas

(D) Whuc Blood Co
TPuscles 57 ey it

& Exampapers247. (?x‘ﬁm‘ﬁé‘p‘é [§24T



L RBILC(M)2018 (8)
25, @ 4 e Ul Toile T GG € 45 25, TF Wﬁmﬂﬁm‘:ﬂmmﬁ
| 14 1B SR (income) 1,000 B 2@, Aefa 11 | 7 EafE = Wi :113 (income) Rs. 1, T
AGEA o 4wy @aﬁmmﬁxmﬂf.
(A) Rs. 6.
: o
(A) 6,000 B " \0 o R A0
: (B) 4,000 (C) Rs. 2,000
(C) 2,000 Bl (D) Rs. 3,000
| (D) 3,000 Ot

- - @

26, SIHE G G9ed (Solar system) AT (200!
5% (Planet) @WiG 7

(A) =45 (Mars)
(B) = (Saturn)
(C) 94 (Mercury)
(D) =% (Venus)

27. (s ylog s’ W emm @47
(A) #IfF
(B) e
(C) =ifdE
(D) FFe

28. =it sifaamza 7w AN 6 9 A T P, Q, R,
X, Y 932 Z | P @3 R f7@fze 7S (married couple) |
Q.R-93 %@ &g R, Q-2 W77 1Y, R-93 %1% | X, P93 311
4R Z, P-97 1% 7, € S0 wew i Wik

(A) 4

(B) AT (Can't be determined) Q_'JP’\f

(@ 2 ?-'t Y]

¥ 3 9 Vo -
Q

@’F
& Exampapers 247,

26, A (Solar system) F1 WA W1 I 0T
(Planet) % €17
(A) = (Mars)
(B) ¥ (Saturn)
(C) 34 (Mercury)
(D) & (Venus)

27. g wiE fafves’ g7 VT EE B2
(A) uif@
(B) reil
(C) arme

(D) Hepd

28. T3 yfEr= 9o Hem 6 1 fafes fudi p, Q, R.
X, YIZ 1P IR fa1f&d (married couple), Q, R #1 3K
fEll R, Q M A ¥, Y, R :1 w2 | X. P 51 91l ¢
TZ, P& 4§ U= viEm Ff s wee A e

(A) 4
(B) #fF9ig (Can’t be determined)
) 2

(D) 3

& Aitamars 24T




\
-

& Exampapers 247,

(v

39, w7 F(WR @RI LN g Ml 200 g
W uic\.rc.hc\ SR W Wl 200 g sam

=g -p,t\ o . 5 el
(increase) AU FUS L1 QU Wy @ R

(A 030 -\_ 97 ¥ &

(BY 630 “

() 500 XV 9 | s

(D) 560 .1__ L ¢

v\
-L* Y '-'\ J\/
{
30. TR (value) ¥ 3
9% * 09

(A) Y8999
(B) 98901
(C) 97902
(D) 99995

-
~

\

.,."‘

31, 1234-€2 ©W B ca::a :‘s" AT ‘H“'mﬁ'v 9 w4l
feersd (divisible) 2227 )
:g; ':, 0)5\!.'5“! Q”a
o)
(C) 67 /23:
(D) 4 - /cq

AR

3. Sma @ el om, e ¢ cbwmfaa w€
famd a2y

96

R/

29, % AT Al 1400 e e
(lectease) S amd diezend 200 @@ (n
bt ai g ) e e wfa @2

(A) 650

(1 630

() 500

(D) 560

30, HEETEA (value):

Q‘}‘)ﬁ <99
99

(A) 98999
(B) 98901
(C) 97902
(D) 99998

3. 1234 W =fEen uiE FA HA
(divisible) T2?

(A) S

(B) 8

() 6

(D) 4

32, T feum =R e, 1, 9F




\. L-;A'- \.4—-";’”" 2 L5
P ﬂ')\w 7
-

g, o W AFD(LCMY) 10sg gae 1.0,
"‘(_ ) 35, <20 WA 210 277 oaf Wy
|

1A 175 ":;g _‘"};}
\959*9 &
— v},\ v

(B 440
HW

(C) 500
(D) 735

38, (TR G315 224 20183 aferurs o wigfive 3z ¢
(A) TUEHEYR @ @
(B) T € 2R
(C) TRTE @ st
(D) o & @3

39. I APXTEIIR (Vapourisation) Sieiel
(Latent heat) %5 &

(A) 100 =m=f2/ o
(B) 100° =forars
(C) 537 wm=fe/dm=
(D) 80 F=R/ g™

40. A brief history of time" %% (= frarg
(A) o 2fE
(B) == =6l
(C) Fomsa zfar
(D) ofs wfasm

41. “irsa e el iy areref o

(a) QAWIGEAN (1) EEanmea
(b) fozegd (i) Cersm
(c) Taeea (i11) @ar

(d) ZrEwTam (1v) “1%%m

(A) (@i (b)) (c)iv) (d)(i)
(B) (a)iv) (b)) (c)(iii) (d)(1)
(C) @y (b)) (c)iii) (d)iv)

& Exampapers 247,
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= HEE LeM. j0s0 ILC.F.
@ W2 210 w3138 vivm 36 a9

(A) 175

(B) 440

(C)=300

(D) 735

35, vz

38. 2018 =" vfer ' 7 4 wwon v fann
(A) TR T T

(B) & 1%Ea

(C) AR 9T

(D) 7w T afey

39, W1 A% 9199 (Vapourisation) 3 T #=am
(Latent heat) #1:

(A) 100 F&fy o™

(B) 100° &f=irg

(C) 537 =eify oy

(D) 80 F=&fy m

40. ‘A brief history of time’ = o7&+ =1 W7
(A) 4 wrfe
(B) 9=
(C) fewm &
(D) 2 witm

41. Fufefas sz frens .

(1) UTATEEH (i) S=EEw
(b) g (i) Fetm
(¢) R (i) F=
(d) TEEER (iv) TR

(A) (i) (b)) (C)iv) (di)
(B) @)iv) (b)) (o)) (d)iy

(C)_(a)(i)




42. IR @4 Defta wiige (Pioncer) 3N
ELIE-TH

(A) &€ enrmes \ "-fu \
(B) ¢ a=teufa % -
— (O = e %
3 o\ C A
(D) §E 2ia 1R

43, 2l wnreeR (rectangular) 31za¢ Tl (length)
SR (breadth) (rend | wRRa whr (perimeter) Uft
600 5512 20, T Wit CFIVA (area) ¢ ¢

(A) 20600 25ifidra &P 1)"00
r‘_ L Ay :5.1_ ,:\ ED
(B) 20400 asifidre LA o
(C) 20406 =+ o-\ e, B
(D) 21600 2+FB= q*; 240, %

H. 92 2903t (square) *Ref T (side) TAdy
m%q&w:mmummawmwﬁmr
(A) 20%
(B) % (Can't be determined)
(C) 10%
(D) 21%

' 5. At eFEmm ‘MOTHER 'ONHURF'
T 2T 'ANSWER - Fe1a o) 2747
(A) MAVSPE
(B) NBWTRF
(C) NBXSSE
(D) NBWRRF

6. =T c=fifre 81 =7 ey T 66 T Yo
(football) 973 32 &7 sfefes (volleyball) (/7% jirg qa:
ﬁm@mwﬁﬁmmlmmﬁMMﬁﬁqﬁm?

(A) 47 . 9

(B) 17 | K (G

(C) =fnfT (Can'y be determined 2%
4

j"’

42, T WeH 1YY GRIRIE (Pioneer) = f'qqp F
(A) FTE @
(B) T8 FaEa

'\ (© QES I
(D) TE FEE

Lo
342 .

o mm(mclangulnr)ﬂEﬁi‘ElFlFxrg-umgl*h)l
wrel e (breadth) F EHM T 1A HE iy
(perimeter) 600 2T W, 18 &% (arca) F w27

(A) 20600 T
(B) 20400 Tifet
(C) 20406 arify
(D) 21600 arifa

H. T ST (square) F WEF fFA (side) =3
10% T ¥ T AT (arca) FH Wova q50?
(A) 20%
(B) #fvf (Can't be determined)
() 10%
(D) 21%

45, T TE WO MOTHER® T *ONHURF o1g
YA ‘ANSWER® #11 it fE=?

(A) MAVSPE
(B) NBWTRF
(C) NBXSSE
(D) NBWRRF

46. 1= mslmatﬂmaﬁww

(foatball) 132 51 Wferam (volleyball) & w16 5

ﬁﬁﬁ@qlﬁﬂ%@ﬂ%%%?
(A) 47
(B) 17

(C) #fuig (Can't be determined)
(D) 23

& Exampaners 247, EXARGEErS 247
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5. 40 Aeid 7R (aggregate) 144 GR UEA

(di ference) 36 TR A b & fae \\{\4 \
(A) 90,45 T ’5% £
(B) 95,19 - N~ N0
(C), 90.54 4}.‘*' " Gj%
(D) 89,53 N
o

57, e Tareraa Trws e com e wRleE o
(A) 1870
(B) 1830
(C) 1770
(D) 1768

58. Bfare WEE TENE FRE S FE, TR

A 9Fara Afea (grmdsun]mﬂﬂﬂm@" FiEgin
AR AGET 7oA

(A) =
(B) @M
© @
(D) =8l

59, AT T (W AU A

9:7:80:7 .
(A) 50 e
(B) 82
(C) Sfersfa (Can't be determined)
(D) 48

60. T 2018-93 afzE faens e @
AR 7
" (A) @R BTl (Katerina Siniakova)
(B) AR (&EirErel (Barbora Krejcikova)
(C) Gira= T2t (Serena Williams)
(D) =gl &=fa (Angelique Kerber)

& Exampaners 247, ECEXAHGEErS 247

56, Z3AA TEAL W T (aggregate) 144 MT T =T
(difference) 36 WU ZFa1 WAL F & B17

(A) 90,45
(B) 95,19
(C) 90,54
(D) 89,53

57, e o T A ST Fe a2
(A) 1870
(B) 1830
(©) 1770
(D) 1768

58, Grer I Higen SET TeEe! y | SETE WRAE

T (grandson) 3T €3 AU 1| Hfgen T THEE &
T 87

(A) 3=l
(B) =feH
(C) =i

(D) &7

59. ¥ e S §9?

9:7:80:7
(A) 50
(B) 82
(C) =R (Can't be determined)
(D) 48

60. famere 2018 m wieen favrmm snfoe =
(A) wefen fafann (Katerina Siniakova)
(B) =E0 FSfEHI (Barbora Krejeikova
(C) Jem fafem (Serena Williams)
(D) TifeTh FAR (Angelique Kerber




(185)

Rearrange the following six sentences (), (b), (c), (d),

(¢)and (D inthe proper sequence to forma meaningful
ph and answer the questions given below

parsgra
(hem: [61-66]

(a) With all this experimentation h¢_incurred an
expenditure of over a milhion dollars before
success smiled on him.

(b) Edison invented the long lasting electric light
bulb.

(¢) To find a fibre to burn inside a bulb he
cxpcrimcnlcd with over two thousand items

(d) We thus owe the muracle of light as much 10 his
perseverance as (o his gemus. '

(e) However he did not invent it overnight.

(f) His fnends too travelled all over the world from
South America to India in search of a suitable

fbre.

Which of the following should be the fourth
sentence after rearrangement”?

(A) (c)

(B) (O

(C) (d)

(D) (a)

6l.

6% Which of the following should be the sixih
«ntence after rearrangement”

(A) (a)

(B) (e)

(Cy ()

(D) (d)

63. Which of the following should be the second

. ?
sentence atter rearrangement.
(A) (d)
(B) (<)

(C) (a)

Exampapers 247,

RB/LC(M)/2018

61.' What is the synonym of the word *perseverance’
used in the passage”?
(A) stamina
(B) courage

(C) frailty
(D) diligence

65. Which of the following should be the third
sentence after rearrangement?

(A) (f)
(B) (c)
(C) (a)
(D) 1d)

66. Which of the following should be the first senlence
after rearrangement?
(A) (b)
(B) (c)
(C) (N

(D) (a)

Read each sentence to find out grammatical errorsor

errors in idiomatic expressionsin it. The error will be
in one part of the sentence. The number of that part

is the answer: [67-73]

67. Two persons who were on a motoreycle o/
escaped with minor injuries @/ afterabalcony of atwo-
storicd building @/ at Shyambazar street collapsed on
Tuesday evening. @

(A) 2
(B) 3
(C) 4

Dy

& HrisamersouT
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68. The Hon'ble Calcutta High Court @O/ will now
hear a petition@/ against a rule that bars lawyers @/
who does not practise in the HC.@

(A) 2
(B) 3
) 4
(D) 1

69. How often employees feel @/ a sense of
achievement @/ on the work @/ that they deliver?®

(A) 2
(B) 3
() 4
(D) 1

70. A121,®/ she,inmany ways, @/ is ikeany girl 3/
to her age.@
(A) 2
(B) 3
(C) 4
(D) 1

71. In late morning @/ several gangmen @/ had
been deployed by KMC towork @/ on different stretches
of the alignment. @

(A) 2
iB) 3
<y 4
(1

(16)

72. There shall be @/ a complete bag
of synthetic colour for painting of idols @
require immersion.@

N

Of the yee ¢

“hahluw
(A) 2

(B) 3

(C) 4

(D) 1

73. My brother lives @/ in Jalpaiguri @/ and 1 visizeg
him @/ every year.®

74.

(A) 2
(B) 3
(Cr 4
() 1

What is the antonym of *Wholesome'?
(A) Unhealthy

(B) Beneficial

(C) Pure

(D) Nutntious

« Which of the following 1s correctly spelt’

(A} Embarass

(B) Embarres

(C) Embuarrass f

(D) Embrase

Fxampapers 247, ECEXAiGaTars 247
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76. ‘She baffled me with her drgument.’— Whay
. is

the synonym of ‘baffled"?
(A) Seasoned
(B) Bewildered
(C) Convineed
(D) Defeated

Four alternatives are given for the Idiom/Phrase
underiined in the sentence. Choose the alternative
which best expresses the meaning of the Idiom/
Phrase: [77-81]
77. After getting selected for the job, he has been

Wiﬁ these days.

(A) travelling only by air

(B) being very modest

(C) becoming very boastful

(D) weanng costly clothes

78. 1'm sure the new office order serves them nght.
(A) changes their mind
(B) gives zood service to them
(C) gives what they deserve

(D) realise their mistukes

79. He is always in de
drakes of his money.
(A) often squanders money

bt as he mﬂ}&_&.&lﬂﬂﬁ—mﬂ

(B) owns a poultry farm

(C) gives loans o other [KU]JIE
- . "“-Tf'll'riﬂn d]hhfﬁ “Ilh

& Exampapers 247
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80, Trying to find life on the Mars is a wild goose
chase.
(A) formidable competition
(B} fulile exercise
(Cy—useful enterprise
(D) mad race for something

81. When he took charge as the General Manager of
the Company, the situation was gt sixcs and sevens.
(A) the money was meagre
(B) the company was in debt
(C) only a few workers were there

(D) 1n utter confusion

82. Change the direct into indirect form of speech:
The boy said, *I play in the field everyday.”
(A) The boy said that he played in the field
all day.

(B) The boy said that he has been playing in the
ficld everyday.

(C) The boy said that he had been playing in the
field everyday.

(D) The boy said that he plays in the field
everyday.

83, Fill in the blank :
Why do you stare _____ her?
(Al o
(B) against
(C) alter
(D) at

R Ry
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Wh of the following is wrong?
Masculine Feminine
Gender Gender
(A) Bull — Cow _
(B) Fox - —— Vixen

d{) Gander —— Goose -
kyfonﬂ: — Mule

-

(18)

85. Change the *voice’ of the sentence:
“A 6-year child was knocked down by a passing
vehicle.” -

(A) A 6-year child knocked down a passing
vehicle.

(B) A passing vehicle knocked down a 6-yeif
child.

(C) A vehicle knocked down a 6-year passiné
child.

(D) No change
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